	Site
	Season
	Equation
	R2

	UK
	Spring
	nTA = 0.7563 (nTCO2) + 33.718
	0.57

	
	Summer
	nTA = 0.551 (nTCO2) – 40.245

	0.98

	
	Autumn
	nTA = 0.3295 (nTCO2) – 7.3047
	0.1

	
	Winter
	nTA = 0.8596 (nTCO2) + 25.772
	0.88

	MK
	Spring
	nTA = 0.5805 (nTCO2) – 4.199


	0.997

	
	Summer
	nTA = 0.6003 (nTCO2) – 62.337

	0.962


	
	Autumn
	nTA = 0.8932 (nTCO2) – 16.667

	0.983

	
	Winter
	nTA = 1.085 (nTCO2) + 42


	0.98

	LK
	Spring
	nTA = 0.7436 (nTCO2) – 17.09


	0.8794

	
	Summer
	nTA = 0.9205 (nTCO2) – 30.502

	0.8763

	
	Autumn
	nTA = 1.0027 (nTCO2) – 40.908

	0.8686

	
	Winter
	nTA = 0.3159 (nTCO2) + 53.485

	0.77
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